H1/GeV?]
9

t,had tbar{t
dm

1/0d’c/ dp

|
(63}

[EEN
o

|
o
o

Ratio to ATLAS

13000 GeV pp tt
T r - T - T T 1 T 1 T T T T O

top
T

P_" (ATLAS semileptonic ttbar)

I
Y
<«
-
Sl
-l
I

Rivet 3.1.10, = 400k events

|
-l
r'ﬂ

mcplots.cern.ch [arXiv:1306.3436]

B ATLAS S -

| --3-- Herwig 7.2.1 default AN N

= ¢ Sherpa 2.2.0 default \ﬂ =

_l | | | | | | | | | |_

:l T T T T | T T T T |:

— =2

i . E

: ‘ ........................ :

B SR |
Tl 1

—eeeT T s -

| —0.5
| " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " |

0 500 1000

pt"= [GeV], m>*" in [400,550] [GeV]



	Contents
	Page 1


